
Answer on Question #61045, Chemistry / General Chemistry 

Question 

5 g of zinc is added to hydrochloric acid to produce 2.04g of zinc chloride salt. find the mass of 

zinc powder that does not react with the acid  

Answer 

Chemical equation: Zn + 2HCl → ZnCl2 + H2 

𝑚𝑡𝑜𝑡𝑎𝑙(𝑍𝑛) = 𝑚𝑟𝑒𝑎𝑐𝑡(𝑍𝑛) + 𝑚𝑑𝑜𝑛𝑡𝑟𝑒𝑎𝑐𝑡(𝑍𝑛) 

𝑚𝑟𝑒𝑎𝑐𝑡(𝑍𝑛) = 𝑀(𝑍𝑛) ∙ 𝜗(𝑍𝑛) = 𝑀(𝑍𝑛) ∙ 𝜗(𝑍𝑛𝐶𝑙2) = 𝑀(𝑍𝑛) ∙
𝑚(𝑍𝑛𝐶𝑙2)

𝑀(𝑍𝑛𝐶𝑙2)
= 65 ∙

2.04

136
= 0.975 (g) 

𝑚𝑑𝑜𝑛𝑡𝑟𝑒𝑎𝑐𝑡(𝑍𝑛) = 𝑚𝑡𝑜𝑡𝑎𝑙(𝑍𝑛) − 𝑚𝑟𝑒𝑎𝑐𝑡(𝑍𝑛) = 5 − 0.975 = 4.025 (g) 

So, the mass of zinc powder that does not react with the acid is 4.025g. 
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